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>
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P T
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= 1 525, 406
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MRL +w
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m3 315 20, 600 6, 489, 000
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m2 420 1,570 659, 400
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m2 420 1, 890 793, 800
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t 9.7 172, 000 1, 668, 400
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t 5.4 170, 000 918, 000
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H Hi 1" DR R =20

m2 39 4,900 191, 100
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m 104 2, 350 244, 400
Tl — AT

= 1 7,414, 772
AR N ¢ 16 L=1.0m

VN 126 730 91, 980
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= 1 2, 120, 000
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= 1 10, 948, 883
EZE LT

= 1 807, 194
IRHE DGR +H
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KT wy ) f & % 75cm
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-6 - ELARims  Abkizhh )y 80w &




YN/

it

£

THEX Sy« TH - FERI - HH50 H PO B B G AT G| T (G E LM
THIARE &7 vy ) BUE It
& 26 15, 800 410, 800
FRE D7 my s 1t
& 26 2,934 76, 284
FRE D7 my s 1t
[3fa ]
& 74 2,934 217,116
THEARE D77 ny I FHA 1t
= 1 87,776
THEARE D77 ny I FHA 1t
(e ]
= 1 132, 682
TH AR 67 ny ) 4 1t
= 1 56, 758
TH AR 67 ny ) 4 1t
B2
= 1 161, 542
G4 B ¢ 22
(BB )
= 1 490, 100
SRR SR235 ¢ 19
t 0. 14 220, 400 30, 856
N
= 1 119, 578
&G EEA
m3 17 7,034 119, 578
BT
= 1 365, 260
[ 12 RC-40
m3 70 5,218 365, 260
Gkt T
= 1 3, 684, 251
-7 - ELARims  Abkizhh )y 80w &




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| T (G E LM
BERAT T
= 1 7,938
WAL 1T MY RE t=10mm
m2 2 3, 969 7,938
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= 1 9, 605, 913
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= 1 383, 333
Prau kil vy - bk (B5H7)
= 1 3,927, 229
Prau kil /)Y =ik (R
Ry 0 0
Prau kil TAT 7V bk
= 1 24, 000
HIS 364 ShE R
= 1 234, 851
LGy 2y -k (SR
m3 140 2,500 350, 000
ALy 2k (B%A7)
m3 1, 166 4, 000 4, 664, 000
ALy /)= (kB
m3 0 6, 650 0
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Prau kil vy -k (SR
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= 1 3, 352
LGy av) -k (JER)
m3 7 2,497 17,479
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m3 1 3,984 3,984
TEHRALER T
[REHEIA]
= 1 648, 057
Prau kil TAT 7V bk
= 1 333, 477
LGy TAT 7V bk
m3 84 3, 745 314, 580
e
= 1 21, 472, 622
THAERK T
= 1 5, 962, 985
FERAR BRI ES
Ry 0 0
FERAR BRI ES
= 1 5, 962, 985
THAERK LT
L # R
= 1 591, 403
FERAR BRI ES
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A - (AR 1
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= 1 22, 205
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= 1 30, 720
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= 1 2,001, 996
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L #E]
= 1 2, 243, 940
SRR IR SEYEARIE S 8.5m 4
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HE 6.5m
= 1 2, 163, 407
+t09 Mt EHI4E) ¢ 110X 110
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KET
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= 1 815, 481
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CCTV TPh 725 (& i HDIPH A7
(P M)
= 1 38, 430 38, 430
A A 2= A+ - VEF
(P M)
i} 1 20, 500 20, 500
CCTV TPh 7%k (& % & HDIPH#7
(558 D)
= 1 76, 550 76, 550
TEAE T A R A+ - VEF
(558 D)
i} 1 20, 500 20, 500
EE AR E T
= 1 57, 740
/)Y - MR E CP7-14-1.5 & & Tm
(558 D)
ZN 1 57, 740 57, 740
Her=7" VB R L
= 1 37,978
LR 2SRl R R 2 SM8C
(T M)
1| 1 19, 170 19, 170
B AMELRR R SM8C
EN)  (FEER)
m 3 594. 1 1,782
ot b LR SM8C
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m 5 361.7 1, 808
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m 12 1,845 22,140
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(P M)
m 12 3, 689 44, 268
JB AN G £ 28mm
(558 D)
m 12 3, 689 44, 268
Rl L e VCT 3. 5mm2-2C
(P M)
1| 1 32, 810 32, 810
M AL FEP £ 30mm
(2%)
m 5 764.3 3, 821
T R AR 2= VCT 3. 5mm2-2C
EN)  (FEER)
m 90 1,421 127, 890
EAMELAR RS VCT 3. 5mm2-2C
EN)  (FEER)
m 10 1,421 14, 210
R AL R 2 Catbe
EN)  (FEER)
m 10 594. 1 5,941
B P LR VCT 3. 5mm2-2C
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m 5 1,421 7,105
EAECHR VCT 3. 5mm2-2C
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= 1 6, 786
IWEAA A
= 1 211, 800
)Y - MR E CP14-19-5.0 & & 14m
(P M)
VN 1 211, 800 211, 800
EEy ISl Ep YT
= 1 4,451, 702
Heh-77 iR T
= 1 1, 253, 347
=77 SM100C (JV/A40v7)
BB CGhadsh)
m 1,070 0 0
=77 SM100C (JV/A4097)
BB CGfadsh)
m 886 0 0
ot b LR SM100C (JV/A4097)
(BN (FFBDOIH)
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EN)  (FEER)
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LR 2SRl R R 2 SM20C
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R AR SM20C
EN)  (FEER)
m 5 594. 1 2,970
LR 2SRl R R 2 SM4C
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Hr=7" Wi e AR SM100C
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Hr=7" Wi e AR SM4C
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= 1 1, 331, 893
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)Y - MR E CP9-14-2.5 E & 9m
(P /)
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SRS SH-8
(P M)
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(RfEA)
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(RfEA)
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B T HE
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= 1 248, 210, 000
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= 1 273, 031, 000
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